MW-116

................................................ — OT-URC [T T T T T 9%uer

ST-URC [T T T T T et st weise ingrs T STURC

tofe)l

=
——
~
)
Q
72
N
A~
[°0)

G-/

/

i

. ) d
v/
mi

i

gl
=

Ao pT-uer
1 uMopInys

pr-uer o :#A

eT-uer  [Htrra--iihtT \u eT-uer

O
by
v
(«h)

9521 £T/52/TT Uels

gr-uer e A - 2Teuer

TT-uer //u TT-uer

oT-uer OoT-uer

Key:
PCE
TCE
Cis-1,2
vC
.

t

} o

v— T
1
1
N—"

T

- 1
"

\
o

I

1

t

T

T

1

1

1

T

1

\

1

T

1

1

1

T

1

1

t

t

1

1

1

T

1

h

60-Uer [ttt \4 ——HtHe 1= - 1A - it HA- - 60-Uer

80-uerl 7 80-uer

o i
i

6000
000
2000
10000
1000
100 =
0.1
0.01

<
(71/6n) uonenuadsuo) (7/6n) uoneNUIIUOD



